ANSWERS — VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 4, Members Subject to Bending and Extension

problem 4.040, page 245

Remarks: See 84.4, pages 168 till 170
See 84.5, pages 171 till 184
See 84.6, pages 184 till 186

Hints:
Pay attention to the eccentricities due to the normal forces at A and
D. These results in jumps in the Moment diagram.

Answers:

c. sectionC: oy, =+6,9 N/mm? and o, = -2,1 N/mm?
sectionE: oy, =-2,7 N/mm? and o, =+2,7 N/mm?

Explanation:

Support reactions:
A, =0; A =960 kN («); G, =720 kN M G,, =960 (—)

c. section C: M,.c =+300 kNmand N¢ =+960 kNm
section E: Mg =-180 kNm and Ng =0
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